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HOLY @) TRINITY
Yellow H

7x11x13
What is 10% of £53
What is 1 hour and 12 minutes after 2:52pm?

Henry gets £20 pocket money. He saves % of it. How much does he save?

Freya says that g simplifies to g Is she correct? Show working to
support your answer

A carpenter has two planks of wood, each 200cm long. How many lengths
of 60cm could he cut from these two planks?

Bob wants to change £10 into Euros. Which exchange rate will give him
the most Euros?

Rate A - €6.84 = £5

Rate B - €1.35= £1

All old Mother Hubbard had in her cupboard was a Giant Beasr chocolate
bar. She gave each of her children one-twelfth of the choclate var. One
third of the bar was left. How many children did she have (Hint § = é)



